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Haryana Staff Selection Commission
Post :- Junior Engineer ( Civil ), Agriculture Department
Afternoon Session Advt No 6/2016 Cat No 30.

1. The limiting value of the depth of neutral axis for fy = 250 N/sq.mm grade of steel based on the
assumptions is
(1) 0.48 (2) 047
(3) 0.52 (4) 0.53
STHTT 6 ST T T 01 fy = 250 N/sq.mm U= 5 ToIT IS 37e7 & Tg2Ts 7 H1HF 71 e g ?
(1) 0.48 (2) 0.47
(3) 0.52 (4) 0.53
2. The maximum compressive strain in concrete in axial compression is taken as
(1) 0.0035 (2) 0.035
(3) 0.002 (4) 0.02
seft wfie # dhie ¥ srfgraan fraet afea At i ST 2 2
(1) 0.0035 (2) 0.035
(3) 0.002 (4) 0.02
3. The section is called over reinforced section when
(1) Mu < My, lim (2) Xu > Xu, max
(3) Xu < Xu, max (4) Xu = Xu, max
g @< ATd TafoId G q9 HgdTdr g o
(1) Mu < My, lim (2) Xu > Xu, max
(3) Xu < Xu, max (4) Xu = Xu, max
4. How much the weight of footing is assumed of the axial load on column?
(1) 10% (2) 15%
(3) 5% (4) 20%
FAT IT A& AT o el STeTT AT T ATHATT 67T SATAT 8 2
(1) 10% (2) 15%
(3) 5% (4) 20%
5. Area of footing is depended on
(1) Safe Bearing Pressure (2)  Allowable Bearing Pressure
(3) Net Upward Pressure (4)  Safe Bearing Capacity
AT A fohey 2 AT Fzar g 2
(1) g gt (2) A TR T
(3) s TUET (4)  ierd T ewar
6. Minimum anchorage length of bars in standard 90 degree bend is equal to
(1) 6 (2) 3¢
) 5¢ 4) 4¢
AT 90 foft o & it 1 =raw ooy oars a8 2
(1) 6 2 3¢

3) 5¢ (4) 40
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7. What is the dimension of A4 size drawing sheet?
(1) 297 mm x 210 mm (2) 330 mm x 240 mm
(3) 420 mm x 297 mm (4) 450 mm x 330 mm
A4 TRTT T ST ofte T s fRaeT 8 2
(1) 297 mm x 210 mm (2) 330 mm x 240 mm
(3) 420 mm x 297 mm (4) 450 mm x 330 mm
8. Give full form of CS
(1) Centimeter Square (2)  Cross Section
(3) Concrete Structure (4)  Cold-water Service
CSHTII & TG -
(1) Frfersae (2) wEIFE
(3) =Fehle TFAT (4) Fes Al qE"
9. What is the minimum size of the drawing room?
(1) 20.0sg.m. (2) 15.8sg.m.
(3) 18.5sg.m. (4) 16.0sg.m.
JoF T T ATH ATHRT [T grar g ?
(1) 20.0sg.m. (2) 15.8sg.m.
(3) 18.5sg.m. (4) 16.0sg.m.
10. What are the minimum values of rise and tread for residential building?
(1) 150 mm, 250 mm (2) 150 mm, 280 mm
(3) 160 mm, 250 mm (4) 160 mm, 280 mm
SETHIT 9a & o7 IeAT-F qoot &1 FAaq 71 foha & ?
(1) 150 mm, 250 mm (2) 150 mm, 280 mm
(3) 160 mm, 250 mm (4) 160 mm, 280 mm
11. Give the size of door for main rooms.
(1) 1.0mx21m (2) 15mx21m
(3) 1.2mx21m (4 09mx21m
e FH o o7 TSt 7 A fohaar g 2
(1) 10mx21m (2) 15mx21m
(3) 1.2mx21m (4 09mx21m
12. The number of steps in a single flight should not be more than
(1) 10 (2) 12
(3) 15 (4) 18
T AT F H R ST & stfere 981 g7 =1y ?
(1) 10 (2) 12
(3) 15 (4) 18
13. The amount of time by which particular activity can be delayed without causing any effect on
completion period of the project is known as
(1)  Free float (2) Total float
(3) Interfering float (4)  Extrafloat

o T a8 AT o TR £t quiar safer 97 ware =t faar Gt afafa s § S fr s awdr g
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(1) "w9EER (2) FATAER
(3) =AfaF TR @) st yaTE
14. is an offer in writing for executing certain specified work.
(1) Bid (2) Contract
(3) Tender (4)  Advertisement
Fg [Afre 1 F7 & forg e e IC R
(1) = (2) «faar
(3) fAfa=r 4) s
15. The slope used for indicating the rate of increase or decrease in the cost of an activity per unit
decrease in time is called
(1) Cost Slope (2)  Analysis
(3) Increasing Slope (4)  Decreasing Slope
e TAtater T AR H T@ia<t a7 geradt it 5T 29 6 T @rer 7 ST fhar srar 8, 9y g qauw '
T Y T T E 2
(1) & & (2)  fereermor
(3) agaraEre (4) Fears
16. The minimum size of fillet weld is
(1) 3mm (2) 2mm
(3) 5mm (4) 1mm
fhere Fog FT FqH A fhaaT grar g ?
(1) 3mm (2) 2mm
(3) 5mm (4) 1mm
17. For single angle the limiting width to thickness ratio for semi compact section should be less
than
(1) 25¢ (2) 15.7¢
(3) 146¢ (4)  42¢
T 07 3 oI oref dgd @2 % forg d1ae S1eTs & HieTs 7 SqaTd [HHE 7 Tl 21 A1y ?
(1) 25¢ (2) 15.7¢
(3) 146¢ (4) 42¢
18. If the height of the object surrounding the structure is between 1.5 to 10 m, what will be the
category of structure ?
(1) Category-l (2)  Category-lll
(3) Category-ll (4) Category-IV
Tfg foreft §C=AT T 57 ATt TEAT AT FATS 1.5 " 10 m F F I, AT FC=AT1 Ay AT FHi | R 2
(1) 2o (2) Aol
(3)  vfrll @)  aofrv
19. Which type of structure is propped cantilever?
(1) Determinate structure (2)  Indeterminate structure
(3) Simply supported structure (4)  Overhanging structure

Faetad Fdrenas ohe avg i g==T 8 ?
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20.

21.

22.

23.

24.

25.

(1) Fatd e (2)
(3) I AT HAAT (4)

Who introduced Moment Distribution Method?

(1)  Prof. G. A. Maney (2)
(3) Dr.P.L.Cross (4)
Aot Forer Ry v 4 oft 2

(1) wr sfo AT (2)
(3) =t due wH (4)
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FfFgT g==T
Jeitad G4

Prof. Hardy Cross
Prof. B. S. Maney

T gTST i
a7, <t e g

What is the angle between planes carrying maximum shear stress and planes carrying maximum

direct stress?

(1) 30degree (2) 45 degree

(3) Odegree (4) 90 degree
At AT dae aTel FHael Y ATAHAR T ST ATl GHAAL 6 AT HI haaT g ?
(1) 30fedt 2) 45 =Hf

(3) offr (4) 90 f=Hft
Longitudinal stress is also called as

(1) Lateral stress (2)  Bending stress
(3) Lateral strain (4) Tensile stress
Fqaed viaaa w1 T8 S Fea 2 .

(1)  arfeSe wfaaer (2) &= wfaEa

(3) wfeE= fagfa (4) T wfaEe
Moment of Inertia of a triangle about base is

(1)  b(hxhxh)/36 (2)  b(hxhxh)/4
(3)  b(hxhxh)/12 (4)  b(hxhxh)/16
AT T 7T 7 e Aol o 2 2

(1)  b(hxhxh)/36 (2)  b(hxhxh)/a
(3) b(hxhxh)/12 (4)  b(hxhxh)/16

Very long column fails by

(1)  Crushing (2)
(3) Overload (4)
STaT o e e e & R o E 2

(1) HEo (2)
(3) wfaw (4)
Which of the following is a Bogue’s compound?
(1)  Tricalcium oxide (2)
(3)  Tricalcium aluminate (4)

it ® & i /7 &0 w7 A1 2 2

Buckling
Crippling

i’
o

Dicalcium dioxide
Tetracalcium peroxide
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(1)  zTewfomy sitese (2) =TEHfCTIR TSR
(3)  zrEfemaw Uegfie (4)  TErhfeREm UTATFETEE
26. Which process is not used in manufacturing of concrete?
(1) Batching (2)  Mixing
(3) Transporting (4) Removing
Fente o (AT 7 o6 THaT T SEd AT Agl 6T ST ?
(1) &= (2) s
(3) e (4) o
27. Tacheometry surveying is a branch of
(1)  City Survey (2)  Topography Survey
(3)  Angular Survey (4)  Linear Survey
AT FTeeror fomeeht o 8 2
(1)  ergdr e (2)  TIATHT FAAT
(3)  =rofter wFeror (4) s aaerr
28. For longer distances, the stadia rod may be graduated in
(1) 5mm (2) 1cm
(3) 5cm (4) 1mm
ST AT & forw, wefear &2 s st it St g ?
(1) 5mm (2) 1cm
(3) 5cm (4) 1mm
29. In which system of tacheometry stadia hair is fixed at constant distance?
(1) Movable Hair Method (2)  Tangential Method
(3) Perpendicular Method (4)  Fixed Hair Method
SHTATTHAT 6T Forer TorTedt &, Fad g a7 & feaT aq Had B sar g ?
(1) =dagus (2) wdET Tgh
(3) ufvewusf (4) fagdgusf
30. The size of offset rod is
(1) 3m (2) 4m
(3) 5m (4) 2m
AT T2 FT AT ThaaT g ?
(1) 3m (2) 4m
(3) 5m (4) 2m
31. The most useful compass in compass survey is
(1)  Surveyor Compass (2)  Prismatic Compass
(3) Through Compass (4)  Tubular Compass
FTH AT § TATTEH START HFITE i 9T 8?2
(1)  FEET T (2) s ™
(3) &aq (y) FATE (4) TefER FE
32. Which material is not used in pile?

(1) Timber (2)  Steel
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(3) Sand (4) Clay
feifeRa & & FoFe ATt &7 ST OTee § A48T R A g ?
(1)  =wTEAT RS (2 =
(3) W@ (4) o= @
33. Which method is not used to improve bearing capacity of soil?
(1) Compaction (2)  Confining
(3) Grouting (4) Hammering
T T T8 A9dT 9ga< I & [or ohe Tg i T STTRT a1 7T SArar g 2
(1) wgas (2) uf g
(3) fa=re (4)  =aTEA
34. Concrete can be pumped up to a height of
(1) 100 m (2) 50m
(3) 80m (4) 65m
Fohie I ohal SHaATs qa O FohaT ST dhaT 8 2
(1) 100m (2) 50m
(3) 80m (4) 65m
35. The quantities of available surface water are dependent on
(1) Reservoir (2) Dam
(3) Rainfall (4)  Runoff
g T Y Iuersey AT oy g7 4 dw Feft 872
(1)  SteTer (2) ata
(3) A& (4) aR
36. The value of depression head respect to critical depression head is
(1) 1/3 (2) 1/2
(3) 2/3 4) 1
Fitae sTaaa oftd T qoaT § sraaae oftd &7 919 fraar g ?
(1) 1/3 2) 1/2
(3) 2/3 4) 1
37. The thickness of gravel pacing provided in gravel pack tube well is
(1) 10to20mm (2) 20to30mm
(3) 30to40 mm (4) 40to50 mm
Fehs TEaTT 99 T § SRS ST o Arers i g ?
(1) 10520 mm (2) 205 30mm
(3) 30% 40 mm (4)  40¥ 50 mm

38. Runoff is the part of

(1) Evaporation (2)  Precipitation
(3) Filtration (4)  Transpiration
FuaTE R AT 8 2

(1)  aredfwr 2 3fe

(3) A== (4)  ATSTreRST

39. The runoff according to Binnie’s percentage for 700 mm annual rainfall is
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(1) 12% (2) 15%
(3) 25% (4) 40%
700 mm it a9t & forw faft sfaerd = e sraare fraar gar g 2
(1) 12% (2) 15%
(3) 25% (4) 40%
40. Give Sl unit for surface tension.
(1) N/sq.m. (2) N.m
(3) N.sg.m. (4) N/m
IS 919 it S| T FT g ?
(1) N/sq.m. (2) N.m
(3) N.sg.m. (4) N/m
41. Specific volume and mass density is
(1) directly proportional (2) inversely proportional
(3) proportional to square (4)  proportional to square root
faforg srrae i g a9
(1) ST (2)  =IeHETATE
(3) =TT (4)  =gETITdr
42. The first public railway was laid in
(1) America (2)  Britain
(3) England (4) Brazil
Tl HTEST Y Fgl s s o7 ?
(1) e 2 foea
(3) e (4) @St
43. Hump yard is the type of
(1) Marshalling yard (2) Goods yard
(3) Passenger yard (4) Locomotive yard
TFT ATE T THTL HT AT AT ?
(1) wrefeRTATE (2) 9 mmEATE
(3) =EhaE 4) =SwaE
44, Give the full form of SSD.
(1) Stopping Sight Distance (2)  Sight Stopping Distance
(3) Station Sight Distance (4)  Safe Sight Distance
SSD T T 9TH FTE ?
(1) ettt g Ree (2) HTEe wEfdT Ree
(3) wemaTze fReew (4) TwaTe Reew
45. In road estimating, the quantity of earth work is equal to
(1) Length x Height (2)  Sectional Area x Length
(3) Sectional Area x Width (4)  Length x Width
ST ATHAT | GaTS 1 AT v ara< g ?
(1) &= x03=TE (2) =T e Ox &ars

(3) e a <O =rE=TE (4) &g Ox =Es
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46.

47.

48.

49.

50.

51.

52.

The nominal size of standard modular brick is

(1) 19cmx9cmx9cm (2) 19cmx9cmx4cm
(3) 20cmx10cm x 10 cm (4) 20cmx10cm x6cm
HTAE THTI 22 FT AT A6 HaaT g ?

(1) 19cmx9cmx9cm (2) 19cmx9cmx4cm
(3) 20cmx10cm x 10 cm (4) 20cmx10cm x6cm

Argillaceous rocks are made from

(1) clay predominates (2)  silica

(3) granite powder (4) lime

AT AT e awi 8 ?

(1) i gTeT (2) e

(3) IATEE UTEET (4) =

Which of the following test is not used to for building stones?

(1) Hardness test (2)  Acid Test

(3) Crystallisation Test (4) Colour Test
fArifena & & = |1 adeqor wae [t e % forw agt B srar 2

(1)  FSrar g (2) ufEe gdreror
(3)  forwelisreor adreror (4)  TUULrE

A particle size distribution curve gives an idea about the

(1) type of sail (2)  void ratio

(3) permeability of soil (4) compaction of soil
T FH0T AT FAqr a5 foheeh a8 & STAT aar g ?

(1) HITF IR (2) e sgam

(3)  w&T Y gTTEEr (4)  gaTHY "gaar
For a well graded soil, the co-efficient of curvature must be between
(1) 1to3 (2) 4to5

(3) 05to1l (4) 5to10
AT FaT o o0, Fehar &7 i e S g7 91 v ?

(1) 1#3 (2) 45

(3) 051 4) 5%10

The first State of India that has started Online Custody Certificates

(1) Goa (2) U.P.

(3) Haryana (4) Delhi

T9T T IZAT 1157 T AT Feest i fthoned F 7 &

(1) =T 2 T

(3) efamm (4) feeft

Where is the first ultra-modern anganwadi centre 'Nandghar' opened in 2015 ?
(1) Hasanpur (Sonipat) (2)  Kalanpur (Rohtak)
(3) Shahbad (Yamunanagar) (4)  None of these
TEAT AT ANHATET g ‘qAvaaT 2015 H gl GEATIar g ?

(1) 8T (i) (2)  HTEAI (TR

(3) orrgaTE (AHATHIY) (4) =TAH T FIE TG
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53.

54.

55.

56.

57.

58.

59.

At which place in Haryana was the mint during the reign of Akbar, where the Jalali coin was
made ?

(1) Narnaul (2)  Siwani

(3) Maham (4) Gohana
FFIT % FHT | AT F fohe w21 a2 =vaer off, sTet Stereft fRagr a=mar Srar o2
(1) T (2 fHar

(3) weH (4)  TmETT

How many tehsils are there in Haryana ?

(1) 90 (2) 95

(3) 93 (4)  None of these
AT # oAt a8 ?

(1) 90 (2) 95

(3) 93 (4)  =AH T A AL

In Haryana, Lifetime Achievement award of 2 lakh rupees for women in sports will be given on
the name of

(1) Rani Laxmibai (2) Mary Kom

(3) Kalpana Chawala (4)  None of these

AT § BT § ATSHETSH STAHE T 2 AT FIT AT [LEARTE AIZATH T oherer 918 & 331 Sraem?
(1) Tt eefiaTg () #hFm

(3)  FeuAT ATIAT (4) =AH T FIE TGS

Which of the following pair is incorrect ?

(1)  Kapil Muni Fair - Kaithal (2)  Chaitra Chaudas Fair - Jind
(3) Kapal Mochan Fair - Yamunanagar (4)  Surya Grahan Fair - Kurukshetra
Forer & 1T T 77 A TR AR E 2

(1)  Ff=s qF |47 - Fae (2) == =" 5T - S

(3) =T HIFAA HAT - THATTIX (4) IF T2 HAT - AT

Kunal Kumar (Television Actor of Haryana) was born in which district of Haryana ?
(1) Faridabad (2)  Panipat

(3) Fatehabad (4)  Charkhi Dadri

AT & AT FATHRT FITA FHIL T ST FATOT % fore FSrer | gair a7?

(1) wheEE (2) Oa

(3) hdgmETE (4) =TT IR

With how many states does the boundary of Haryana touch ?

(1) 5 (2) 4

(3) 3 (4) 6

g it HhwT g Treat v eef FdT 82

1) 5 (2) 4

(3) 3 4) 6

Neem Sahib Gurudwara is located in which district of Haryana ?
(1)  Panipat (2)  Panchkula
(3) Kaithal (4) Rewari
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60.

61.

62.

63.

64.

65.

A |fea TEaTr g F R ot # R 27

(1) o (2) W=

(3) Fu (4) TETE

Who among the following is known as First State Poet of Haryana ?

(1)  Tulsi Das Sharma (2)  Jaimini Haryanvi
(3) Udaybhanu Hans (4)  Surendra Sharma
% 5 | &9 g & T ST FHA " T ST E2

(1)  qoreraTe ot (2) SfaeT ghaTrET
(3) STEANER (4) "r=ewl
Markandeshwar temple is located in

(1)  Kurukshetra (2)  Mahendragarh
(3) Panipat (4) Jind

ATHUSYAT HiaY gl ue foord 872

(1) T (2) W

(3) T 4) =

As per Census 2011, what is Decadal Growth Rate of population of Haryana ?
(1) 18.90% (2) 17.90%

(3) 19.90% (4)  None of these
STRTOET 2011 | 3 AT, FRATIT SEeaT il 29 gig 37 fhai g2

(1) 18.90% (2) 17.90%

(3) 19.90% (4) TAH HFIS AGT

In the memory of Kalpana Chawla, Kalpana Chawla Government Medical College built at which
district of Haryana ?

(1) Karnal (2)  Gurgaon

(3) Faridabad (4)  None of these
ghaTor & o (ST § FeqT Fraer it Sid § FeqqT Aradl TaqHe GTSadhe Riersl grdT 47 2
(1) === (2 TEE

(3) wiETETE (4) A EE T
Pt. Neki Ram Sharma of Haryana was a famous

(1)  Film Personality (2)  Singer

(3) Sports Person (4)  Freedom Fighter
AT % 9 Fht 77 98T o glaeara

(1) reft srfFaca (2) WmEE

(3) fE=mE (4) AT AATHT
Which of the following is smallest (area-wise) district of Haryana ?

(1) Panchkula (2)  Yamunanagar
(3) Palwal (4)  None of these
e & & e |71 e (gerwer srETe) 2R T ga et e g ?

(1) e (2) =T

(3) weraw (4) =TARFFE AL
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67.

68.

69.

70.

71.
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Which one of the following dance form is not related with Haryana ?

(1) Garba (2)  Jhumar

(3) Ghoomar (4) Dhamal

9% 5 | &9 97 7 g & getda 981 82

(1) e (2) =

() Tw (4) s

The famous battle of 1526, between Babar and Ibrahim Lodi, fought at
(1) Panipat (2) Rewari

(3) Hisar (4)  Kurukshetra
T TAT AT ATl % 1= ¥ 1526 ¥ 7frg 7= Fgl g2 A2

(1) orua (2) aETEr

(3) e (4)  TEEA
Yamuna enters in Haryana from the district of

(1) Kaithal (2)  Karnal

(3) Ambala (4)  Yamunanagar
THAT AT | o6 forer & werer F:eet 82

(1) Fu= (2) wEATA

(3) erwTAT (4) IR

Which of the following revolts was held during Aurangazeb reign in 1669 against Religious

Jat
None of these

STE

T o TS T

Swami Vivekanand
Acharya Baldev

T A
EIEIPEE ]

Faridabad
None of these

TG IES

policy ?

(1)  Sikh (2)

(3)  Satnami (4)

SIS o ATEARTA & G 1669 | griia F1fd & 3 § Fer & & & |71 f5gie gan ?
(1) fr= @)

(3)  &ewTH 4)

Who was the Guru of Baba Ramdev ?

(1)  Acharya Rajendra (2)

(3) Acharya Balkrishna (4)

JTAT TTHET o & Al I ?

(1) = Tes (2)

(3) =T T (4)

In which place of Haryana, carriage and wagon workshop is located ?
(1) Jagadhari (2)

(3) Sirsa (4)

AT 3 f3h TATH U% ST U0 o Fehelid R g 2

(1)  swmed (2)

(3) (4)

TAH W TS T
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72.

73.

74.

75.

76.

77.

78.

Recently Manushi Chhillar of Haryana Crowned with Miss World-2017, this event was organised
in which country ?

(1) China (2) U.S.A.

(3) UK. (4)  None of these

BT &1 § gheamo it ATt fBeew M awe-20 17 1 T2 | T8 STaariar e o0 # st g2
(1) = (2) AT

(3) =¥ (4) TAHH L TR

Which of the following Company is doing constructional real estate project at eco- sensitive
Aravalli Hills of Haryana, which got noticed by N.G.T. ?

(1) Bharti Land Limited (2)  Reliance Infrastructure

(3) DHL (4) DLF

i it wafaeorEeEt st gdq Aft 9% Raer veee e i ffutr w9 Aetetea § & s =
FOAT T2l @, o NL.G.T. g stfergf=ra o mam 2

(1) et o forfaes (2) ReEmEw ShwEET

(3) DHL (4) DLF

Which one of the following was partner country of the International Gita Mahotsav-2017 in

Haryana ?

(1) South Korea (2)  Singapore

(3) Mauritius (4)  Thailand

AT § staergy T wgreaa-20 17 § ureav o1 Aeferfera § & #19 o412
(1)  =feror s (2) fRmE

(3) =i (4) orsdT

Which scholars pioneered the archaeological explorations in Haryana ?
(1)  Cunningham (2)  C.Rogers

(3) D.B.Spooner (4)  All of these

o fergmary/At F ghamon # qerae weer £ fig w=h?

(1) == (2) T

(3) et TEx (4) FEFA

The Indian Independence League was set up by

(1) M.K. Gandhi (2)  Jawaharlal Nehru
(3) Ras Bihari Bose (4)  Jayprakash Narayan
e TeETUSH ST T TITIAT o i 2

(1)  waF ateft (2)  STETETAT AR
(3) T (4)  STESTERTST ATTTAI
Which planet is brightest ?

(1) Mars (2)  Venus

(3) Saturn (4)  Neptune

T |7 g T STTET FHHAT & ?

(1) w7 2) <aOh

(3) of% (4) Fo=IA/FET

What is the India's rank in World Bank's Ease of Doing Business Index 2018 ?
(1) 101st (2) 100th
(3) 113th (4) 130th
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Tored 59 & T3 SATI GATAT TAF T (ST AT T2 farotae TS 2018 § AT T FH FAT G ?

(1) 101at
(3) 113at

(2) 100at
(4) 130at

79.

80.

81.

82.

83.

84.

The 2017 National Unity Day is celebrated on which date in India ?

(1) 31 October (2) 30 September
(3) 25 May (4) 17 November
2017 TE Uawar feae wrea ® o ard 1 g9 = 2

(1) 31sFaT (2) 30 fHawET

(3) 25# (4) 17 7FFx

Choose the remaining alternative to complete the series :
A_BBC_AAB_CCA_BBCC

(1)  ACCA (2) ACBA
(3) ABCA (4)  ABBA
Sroft 1 T 5 3 For A e
A_BBC_AAB_CCA_BBCC

(1)  ACCA (2) ACBA
(3) ABCA (4) ABBA

If South-West becomes North, North-West becomes East and so on. What will West become ?

(1)  North-East (2)  North-West
(3) South-East (4)  South-West
Tfe Fferor af9sw I a9aT 8, SALATLTH T4 a9dT &, a1 II9FH 97 aar1 8 ?
(1) sSTTg@ (2) saeafesw
(3) =ferorga (4) =ferorafesw
Choose the word which is different from the rest

(1) Domino's (2)  Pizza Hut
(3) McDonalds (4) U.S. Pizza
T 9763 FH ST 37T & ST g |

(1) =i (2 drEE

(3) & STTeSS 4)  ZuE de
PLXE, OKWD, NJVC, , LHTA

Fill in the blank.

(1)  MINBF (2) MJIB

(3) MIUB (4) UTF

PLXE, OKWD, NJVC, , LHTA

frort =TT i 7RF AT |

(1)  MINBF (2) MIB

(3) MIUB (4) UTF

The sum of two numbers is 28/25 of the first number. The second number is what percent of the
first ?
(1) 12% (2) 14%
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8s.

86.

87.

88.

89.

90.

(3) 16% (4) 18%

FT HEATSAT T T, TgeAT T&AT % 28/25 7 | AT AL 6T Tgat il fohae Traerd gt ?
(1) 12% (2) 14%

(3) 16% (4) 18%

21/8 x 25/7 x 24/5 is equal to

(1) 25 (2) 30

(3) 35 (4) 45

21/8 x 25/7 x 24/5 T aET 8 ?

(1) 25 2) 30

(3) 35 (4) 45

The average of five consecutive numbers A, B, C, D and E is 48. What is the product of Aand E ?

(1) 2300 (2) 3200

(3) 3500 (4)  None of these

qf= FHRT qeqtst A, B, C, D 3ii¥ E &7 3f/Ed 48 €, A1 A 3% E T I[Urhet 4T 21T 2
(1) 2300 (2) 3200

(3) 3500 (4) = & ATE AL

By selling a pen for * 15, a man loses one-sixteenth of what its costs him. The cost price of the
pen is

(1) ‘16 (2) "18

(3) 20 4) 21

TH U 15 H S U AGHT SHAT AT T Uh-AAd] [GEAT g 3STAT &, AT I F AN JoF FAT 5 2
(1) 16 (2) 18

3 20 4 21

Which organ in human beings stores urine ?

(1)  Urinary Bladder (2)  Kidney

(3)  Urinary Tract (4) Liver

HTAE | I |7 37 T T G FLAT 8 ?

(1) g (2) =

(3) TAnT 4) =%

The flower in papaya is

(1)  Unisexual (2)  Bisexual

(3) Colourless (4)  Polysexual

AT 1 E el

(1) uwferR (2) feferf

(3) TEm (4) =gherft

Corrosion of Iron is called

(1) Plating (2)  Electro Plating

(3) Rusting (4) Combustion

AT T ST 3T T AATIAE AT FATE 2

(1) wfé (2) zErFEALT
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(3) e 4) ==

91. Supply suitable article in the following blank if needed :

French is easy language.
(1) a (2) an
(3) the (4) noarticle

92. Supply suitable preposition in the following blank :

When the drum was heated, it suddenly burst flames.
(1) of (2) to
(3) on (4) into

93. Give one word substitute for the following expression :

is a system of government by one person with absolute power.

(1) Autocracy (2)  Bureaucracy
(3) Neocracy (4) Democracy
94, Select the word from the following that is most similar in meaning to the word in capital letters:
IMPERIAL
(1) Royal (2) Mean
(3) Slavish (4) Ignoble
95. Select the word from the following that is opposite in meaning to the word in capital letters :
TREMBLE
(1) Vibrate (2)  Totter
(3) Jar (4)  Steady

96. 'TNITHATH osx FT A AU B

(1) =R+ == (2) AR+ sreAmH

(3) M+ AT (4) TR+ st
97. | AT FT o1 § HAWTALT THAT HAAT?

(1)  oTeST WY Seahd S (2) e g gL AT

(3) =HH T U IHST AT (4) T H EHE HHY a7
98.  HYATE FT ATHTR AU §

(1) #FEHTAE (2) waFfUAaE

(3) ®IHAE (4) AT F I A% 8 e

99, ST HY ¥ 79 oIdT & ATFATET F o1 U 9rew ¥
(1) === (2) =R
(3) d&w (4) "™
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100. ‘IS 45T § A T AT A ?
1 2 (2) =g
(3) @ A
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